— 0°00%

I.oom\'ﬁ|o.oomm

00049

B |

6200.0
6700.0

[s2] o
= =
o
=
'l
3V
c
o
(=)
S
2 3
| o
= X
z g
(%)
z T
o 2 <
%) S
4 5 . =
L cCc 2
= g2 ¢
W o 50 Wy &
— 8 <o »n
Jat = m 83 @
Z < £8 EP S
= % 25 g
o 2o aox a
~ <2 _I,_I
= o < <
[ Ox X2 (@)
< O N =} T
= zE o~
s 22 S5 5 <=
og 22 =Sy
r 29 Q ©
S §2 & eS
—-= = [} =SS
£ 8T s 8§
== c
0000 —————= =2 < o Ao~
l———— 0009} ———
0°000 | ——m=
0°009 -
k]
— »
g 9
w -
o ] ™
q L N N
S < 0000000000000 000OOO00O0O0O0O00000 00
) w 32 So <
2 ag
w 22 Bg @ 0000000000000000000000O0000000O0 )
%) N g 2
<< 8 «
m
H 00000000000 00000000000O000O00O00O00O00 %
~ “fl 000000000000 0O0OOD0O0OO0O0OOOO0O0O0O0O0OOOO 0
(=} N
= = =
=] o
53 g
— ooooooooowoooooooooooooooooooo < k H
<C
€D
©000000dDR33888888888888888888&%00000000
o
= o %oooooooooooooooooooooooooooooo %
- N
2 3 2
@ g
2 g
2] o Hooooooo00%oooooooooooooooooooo < k
< g
S @
@ ©000000d3338388888888888888888&%00000000
o %oooooooooooooooooooooooooooooo %
N
= - Hooooooooowoooooooooooooooooooo < %
<<
(%]
©000000dDL338388888888888888888&%00000000
3 woooooooooooooooooooooooooooooo
N
<
=

ISA4

H

OOOOOOOOOH

00000000 O

00000000000 0000000O0OO

A

00000000000 000000O00O0OO

B

2600.0

9600.0




